
ncr
ncn-r= i)

আমরা জানি, ncr
= 

n!
r! × (n−r)!

………… . . (i)

i িং সমীকরণে 𝑟 = 𝑛 − 𝑟 বনসণে পাই,

ncn-r = 
n!

(n−r)! × (n−n + r)!

= 
n!

(n−r)! × (n−n + r)!

= 
n!

r! × (n−r)!

= ncr

∴ ncr
ncn-r= 



ii) + ncr
ncr-1

n+1cr= 

ncr
ncr-1+ 

L.H.S.

= 
n!

r! × (n−r)!
+

n!
(r−1)! × (n−r+1)!

= 
n!

r (r−1)! × (n−r)!
+

n!
(r−1)! × (n−r+1) (n−r+1−1)!

= 
n!

r (r−1)! × (n−r)!
+

n!
(r−1)! × (n−r+1) (n−r)!

= 
n!

(r−1)! × (n−r)!
1

𝑟
+

1

𝑛 − 𝑟 + 1

= 
n!

(r−1)! × (n−r)!
𝑛 − 𝑟 + 1 + 𝑟

𝑟(𝑛 − 𝑟 + 1)

= 
n! (n+1)

r r−1 ! × (n−r)!(n−r+1)

= 
(n+1)!

r! × (n−r+1)!

n+1cr= 

= R.H.S.



nc10 হণে n এর মাি কত?13) nc20=

nc8 হণে n এর মাি কত?14) nc12=


